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[E# 1] Ojetdy Sits

1. TOEIC - JPT - TEPS - TOEFL(iBT)

TOEIC, JPT TEPS TOEFL(iBT) HE
950 O|4 428 Ol 112 O] 4t 10
900 Of&f 950 O|Tt 370 ~ 427 105 ~ 111 9.5
850 O|4F 900 O|Tt 336 ~ 369 99 ~ 104 9
800 O|&f 850 O|2t 309 ~ 335 91 ~ 98 8.5
750 O|&f 800 Of2H 285 ~ 308 85 ~ 90 8
700 O|4 750 O|Tt 264 ~ 284 80 ~ 84 7.5
650 O|4F 700 O|Tt 245 ~ 263 75 ~ 79 7
600 O|4 650 O|Tt 227 ~ 244 69 ~ 74 6.5
550 O|+&F 600 O|2F 211 ~ 226 63 ~ 68 6
500 O|%4f 550 OfTt 195 ~ 210 57 ~ 62 5.5
450 O|4 500 O|Zt 181 ~ 194 48 ~ 56 5
400 O|4 450 O|2F 167 ~ 180 41 ~ 47 4.5
X EHAE 0|2t ek H4 0|20
2. 3=0{(HSK)
= @® sadT4H4 @ H+EZ | 1000 HAHES He
HSK 3& 240 ~ 300 1.63 401 ~ 499
180 ~ 194 343 501 ~ 550
HSK 45 195 ~ 209 343 551 ~ 600
210~ 300 1.09 601 ~ 700
180 ~ 194 343 701 ~750
HSK 5& 195 ~ 209 343 751~ 800
210~ 300 1.09 801 ~900
180 ~ 194 1.71 901 ~ 925
HSK 62 195 ~ 209 1.71 926 ~ 950
210~ 300 0.54 951 ~
X 1,000 7|FO2 &S HPAE AY| EQMLE(T. TOEIC - JPT - TEPS - TOEFL(BT))f|
CHEAIAH 2Z SHIMLE 42
- 1,0004 2HH(A) = @ aliEdSE 1000 Mo 2 AHAH + {(SAAMEHZA
@ e HSKSZHPHERA 2/H3) x Q@ ULE
% BHIE 0|2 Mok 4 0|0



3. QoA U(E AL A-0PIc-TEPSA L)

EojAam OPIc TEPSA | Z SHHE

AL

180~200 (Advanced Low) 74 ~ 100 5

160~170 IH 67 ~ 73 4.5

(Intermediate High) ’
IM3

140~150 (Intermediate Mid3) >7 ~ 66 4
IM2

120~130 (Intermediate Mid2) >0 ~ 56 33
IM1

100~110 (Intermediate Mid1) 38 ~ 49 3

90 L 25 ~ 37 2.5

(Intermediate Low) )

80 - 23 ~ 24 2




[E# 2] AHS vlEE(EN 153)

=OFf T F by H 1
StaAtsHAEAI™ 258 O 5
o =2 O™
A S 1712 8 8)
St AtsEHAEA™ 35 3
KBSTt=OlsHAI™ 770 O 5
ot 8=M7|4d 7508 O = 08E
(ex. KBSTH=O{ S A| 1}
SH=2 0] ot 8=M7|4d B
N N 2K K= & T oY
KBSSt= Ol HA|IH 5458 0|4 3 S2 140 HE)
ot E82=M7|4H 6308 O
NE2A 15 5
TAT(Tax Accounting Technician) 1=
TAT(Tax Accounting Technician) 2& 4
2| A S= O0&E
20} N2 23 | e 53 e Hg
FAT(Financial Accounting Technician) 1=
NE=[A 35 2
FAT(Financial Accounting Technician) 2&
7|AF RHASEEEME|Z|AF M 2l), RI 7
7|E} L =2 0|8
4 I L = Sl=S
MH7|AF RHE S 3
X Zt 20fd AAS 2 1714iet 1M (SE D|AE).
X &7 A4Z 0|0l elHEA EF



